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A newly-established questionnaire database and its reference system
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Abstract

In setting up and running a successful exhibition, the curator needs to be conscious of visitors’

K

reactions to both the museum and its exhibitions. Questionnaires are a good way to discover visitors
opinions. This paper describes a newly-established database at the Nagoya University Museum
which collates questionnaire results and provides curators with a convenient reference system.
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<HTML>

<HEAD><TITLE> </TITLE></HEAD>

<BODY BGCOLOR="#c5a5d5">

<P><B><FONT SIZE=+2> 5 6 [nlf§Rl e [ZRbh 73t ] </FONT></B></P>
<P><B><FONT SIZE=+2><BR>
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</FONT></B><A HREF="FMPro?-DB=Kf§# 7 > 7 — b 6.fp5&-Lay=L 4 77 b 1&-

Format=pagelink. htm&-Max=20&-Findall"> Rfi# 7 > 7 — b\ </A></P>

<P><A HREF="FMPro?-DB=kfi# 7 ~ 7 — b 6.fp5& Lay= L' 4 77 I 1& Format=kensaku.htm&-view">
T — ¥ RN </A></P>

</BODY>

</HTML>

- —EBRTATA Xy b I 7A)L (EAER) (77135 : pagelink.htm)
<HTML>
<HEAD><TITLE> </TITLE></HEAD>
<BODY BGCOLOR="#caffe7">
<P> % 6 MI4ERE  REEHT 47— <A HREF="FMPro?-DB=Rfi# 7 » 7 — b 6.fp5&Lay=L 4 77 I
3&-Format=pagelink2.htm&-Max=20&-Findall"> “£ D X HIZL T -7z ? " —EHEKR </A>
<BR>
[FMP-CurrentFoundCount] 7 — % @ 9 L [FMP-RangeStart]’* 5 [FMP-RangeEnd] ¥ TR L 3. </P>
<P> <TABLE BORDER="5" CELLSPACING="1" CELLPADDING=
"0" WIDTH="100%" HEIGHT="70">
<TR><TD ROWSPAN="2"><P ALIGN=CENTER>ID</TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> 3#£f H </TD>
<TD COLSPAN="2"><P ALIGN=CENTER> & 7% 721% ? </TD>
<TD COLSPAN="3"><P ALIGN=CENTER> H{ % % ? </TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> £l </TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> 4£ifti </TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> {if[il H </TD></TR>
<TR><TD><P ALIGN=CENTER> 4} </TD>
<TD><P ALIGN=CENTER> %/ </TD>
<TD><P ALIGN=CENTER> A e </TD>
<TD><P ALIGN=CENTER> 1li N#£f% </TD>
<TD><P ALIGN=CENTER> . A1 </TD>
<TR>[FMP-Record]
<TD><P ALIGN=CENTER><A HREF="[FMP-LinkRecID:Format=shousail.htm]">[FMP-Field:ID]</A></TD>
<TD><P ALIGN=CENTER>[FMP-Field: £ H1</TD>
<TD><P ALIGN=CENTER>[FMP-Field:® %7213 ? (%4})1</TD>
<TD><P ALIGN=CENTER>[FMP-Field:® %7213 ? (%:W)1</TD>
<TD><P ALIGN=CENTER>[FMP-Field: 81 ¥ W\ &4} </TD>
<TD><P ALIGN=CENTER>[FMP-Field: B F v (&) ]</TD>
<TD><P ALIGN=CENTER>[FMP-Field: 81 F VIR HN]</TD>
<TD><P ALIGN=CENTER>[FMP-Field::5]</TD>
<TD><P ALIGN=CENTER>[FMP-Field:4i]</TD>
<TD><P ALIGN=CENTER>[FMP-Field: = O ffi~13 ? 1</TD></TR>
[/EMP-Record]</TABLE></P>
<P>[FMP-LinkPrevious]«Hij ® X — ¥ ~:[/FMP-LinkPrevious] [FMP-LinkNext] X ® X — ¥ ~—:[/FMP-
LinkNext]</P>
<P><A HREF="defaultl.html"> &x— A ~NRE 5% </A>
</BODY>
</HTML>
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—EBRTATF—Y Y NI 70I0 (BYEZH > EBHREBROER) (7 74)L% : pagelink2.htm)
<HTML>

<HEAD><TITLE> </TITLE></HEAD>

<BODY BGCOLOR="#caffe7">

<P> %5 6 M4FHIE RfEET 47— b <BR>

<BR>

[FMP-CurrentFoundCount] 7 — % ® 9 L [FMP-RangeStart]’* 5 [FMP-RangeEnd] ¥ TR L 3. </P>
<TABLE BORDER="5" CELLSPACING="1" CELLPADDING=

"0" WIDTH="100%" HEIGHT="70">

<TR><TD ROWSPAN="3" WIDTH="11%"><P ALIGN=CENTER>ID</TD>

<TD ROWSPAN="3" WIDTH="9%"><P ALIGN=CENTER> ¥ff H </TD>

<TD COLSPAN="6"><P ALIGN=CENTER> £ ® X 5 2L THl> 7 ? </TD>

<TD ROWSPAN="3" WIDTH="9%"><P ALIGN=CENTER> 43l </TD>

<TD ROWSPAN="3" WIDTH="8%"><P ALIGN=CENTER> 4£i# </TD>

<TD ROWSPAN="3" WIDTH="9%"><P ALIGN=CENTER> fif[a] H </TD></TR>

<TR><TD ROWSPAN="2" WIDTH="12%"><P ALIGN=CENTER> %415 7z </TD>

<TD ROWSPAN="2"><P ALIGN=CENTER> % D1l </TD>

<TD ROWSPAN="2" WIDTH="12%"><P ALIGN=CENTER> 4 X~ } </TD>

<TD COLSPAN="3"><P ALIGN=CENTER> &' Z ®K 2 ¥ — ? </TD></TR>

<TR><TD WIDTH="9%" HEIGHT="-2"><P ALIGN=CENTER> *2M%} ? </TD>

<TD WIDTH="9%"><P ALIGN=CENTER> 224} </TD>

<TD WIDTH="9%"><P ALIGN=CENTER> % O 1. </TD></TR>

<TR>[FMP-Record]

<TD><P ALIGN=CENTER><A HREF="[FMP-LinkRecID:Format=shousail.htm]">[FMP-Field:ID]</A></TD>
<TD><P ALIGN=CENTER>[FMP-Field: £ H1</TD>

<TD WIDTH="9%"><P ALIGN=CENTER>[FMP-Field: Z D43} % & D X 512 L THl-> 72 ? 1</TD>
<TD WIDTH="9%"><P ALIGN=CENTER>[FMP-Field: &% L CTHl» 7z ? ]</TD>

<TD><P ALIGN=CENTER>[FMP-Field: f X~ b & L CT]</TD>

<TD><P ALIGN=CENTER>[FMP-Field: & Z D& A ¥ — ? ]</TD>

<TD><P ALIGN=CENTER>[FMP-Field: 2%} K X ¥ —]</TD>

<TD><P ALIGN=CENTER>[FMP-Field: % Dl THl- 721</TD>

<TD><P ALIGN=CENTER>[FMP-Field: 1% 3]1</TD>

<TD WIDTH="8%"><P ALIGN=CENTER>[FMP-Field:4£#]</TD>

<TD WIDTH="8%"><P ALIGN=CENTER>[FMP-Field: Z O ¥~ iZ ? ]</TD></TR>

[/EMP-Record] </TABLE>

<P>[FMP-LinkPrevious]«Hij ® X — ¥ ~:[/FMP-LinkPrevious] [FMP-LinkNext] X ® X — ¥ ~—:[/FMP-
LinkNext]</P>

<P><A HREF="defaultl.html"> x— A ~NRE 5% </A>

</BODY>

</HTML>

LDO—FERIRTIAT#—~ vy b7 74140 (7 74)L% : shousail.htm)

<HTML>
<HEAD><TITLE></TITLE></HEAD>
<BODY>

<B> RfEHT o — MEAEHR </B>
<FORM>

<P><TABLE BORDER="5" CELLSPACING="1" CELLPADDING="0" WIDTH="100%" HEIGHT="70">
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<TR><TD ROWSPAN="3" WIDTH="11%"><P ALIGN=CENTER>ID</TD>

<TD ROWSPAN="3" WIDTH="9%"><P ALIGN=CENTER> #fifi H </TD>

<TD COLSPAN="6"><P ALIGN=CENTER> &® X 92 L CTHI- 7z ? </TD>

<TD ROWSPAN="3" WIDTH="9%"><P ALIGN=CENTER> 4} </TD>

<TD ROWSPAN="3" WIDTH="8%"><P ALIGN=CENTER> 4} </TD>

<TD ROWSPAN="3" WIDTH="9%"><P ALIGN=CENTER> fif[i] H </TD></TR>

<TR><TD ROWSPAN="2" WIDTH="12%"><P ALIGN=CENTER> %t - 7= </TD>

<TD ROWSPAN="2"><P ALIGN=CENTER> Z Ol </TD>

<TD ROWSPAN="2" WIDTH="12%"><P ALIGN=CENTER> 1 X~ } </TD>

<TD COLSPAN="3"><P ALIGN=CENTER> £ Z DR X ¥ — ? </TD></TR>

<TR><TD WIDTH="9%" HEIGHT="-2"><P ALIGN=CENTER> 414} ? </TD>

<TD WIDTH="9%"><P ALIGN=CENTER> %4} </TD>

<TD WIDTH="9%"><P ALIGN=CENTER> % Ot </TD></TR>

<TR>[FMP-Record]

<TD><P ALIGN=CENTER><A HREF="[FMP-LinkRecID:Format=shousai2.htm]">[FMP-Field:ID]</A></TD>
<TD><P ALIGN=CENTER>[FMP-Field:¥ff H]</TD>

<TD WIDTH="9%"><P ALIGN=CENTER>[FMP-Field: Z D453} % D X H 12 L THI» 72 ? 1</TD>
<TD WIDTH="9%"><P ALIGN=CENTER>[FMP-Field: &9 L CTHl- 7z ? ]</TD>

<TD><P ALIGN=CENTER>[FMP-Field:f X> I & L Tl</TD>

<TD><P ALIGN=CENTER>[FMP-Field: &2 DK X ¥ — ? ]</TD>

<TD><P ALIGN=CENTER>[FMP-Field:*##} R A ¥ —]</TD>

<TD><P ALIGN=CENTER>[FMP-Field:Z Ol THl-> 721</TD>

<TD><P ALIGN=CENTER>[FMP-Field: ¥4 l]</TD>

<TD WIDTH="8%"><P ALIGN=CENTER>[FMP-Field:##]1</TD>

<TD WIDTH="8%"><P ALIGN=CENTER>[FMP-Field: Z O 1P fE~1L ? 1</TD></TR>
[/FMP-Record] </TABLE>

<FORM>

<P><TABLE WIDTH="100%" HEIGHT="371" BORDER="0" CELLSPACING="3" CELLPADDING="0">
<TR><TD WIDTH="40%"> ¥¥# 5} <TABLE BORDER="1" CELLSPACING="0" CELLPADDING="0"
HEIGHT="273">

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> # > Tfi ? {ZB.00 % </B></TH>
<TD>[FMP-Field:# k- Tl ? (ZBY.0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> % KK DO FEIZB.00 % </B></TH>
<TD>[FMP-Field: % KR D A2 B0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> kb N7 — I 7 Y IZ¥.L % </B></TH>
<TD>[FMP-Field: kb 7zN— 3 7 Y IZ.0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> BE[iij 2 7 v F|ZB.00 % </B></TH>
<TD>[FMP-Field: B 2 7 v F 12 B[ % ]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> 3t 1515 </B></TH>
<TD>[FMP-Field: 3t 15181</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B>N il </B></TH>

<TD>[FMP-Field:N {i1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> #1’& |2 fH.[» % </B></TH>
<TD>[FMP-Field:#Z |2 B4.0> % ]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> KR iij </B></TH>
<TD>[FMP-Field: /& E#EE Hi]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> 1kE#{% 7t </B></TH>
<TD>[FMP-Field: /&5 C]</TD></TR>
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<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> 1515§5iif </B></TH>
<TD>[FMP-Field: 1615 32i# </TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> B##4E </B></TH>
<TD>[FMP-Field: B ##FE]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> % O ffi </B></TH>
<TD>[FMP-Field: % ®i1]</TD></TR>

<TR><TH HEIGHT="20"></TH>

</TABLE></TD>

<TD WIDTH="35%"> % # & <TABLE BORDER="1" CELLSPACING="0" CELLPADDING="0"
HEIGHT="323">

<TR><TH HEIGHT="20"> [¥i /& |2 Bd-1s % </TH>
<TD>[FMP-Field: W& 2 BJ.0 % ]</TD></TR>

<TR><TH HEIGHT="20"> f# # (2 Bd.0s % </TH>
<TD>[FMP-Field: ik 2 12 B.0> % 1</TD></TR>

<TR><TH HEIGHT="20"> 1t f1 |2 Bd-1s % </TH>
<TD>[FMP-Field:{tf1 12 B.0> % ]</TD></TR>

<TR><TH HEIGHT="20"> 51 |2 B-{s % </TH>
<TD>[FMP-Field: #4112 BE:[» % ]</TD></TR>

<TR><TH HEIGHT="20"> H% - 1% ICB.0% </TH>
<TD>[FMP-Field: H¥% - 127120 % 1</TD></TR>

<TR><TH HEIGHT="20"> & #1ZB8-[ % </TH>
<TD>[FMP-Field: i 3 # 12 B.0s % 1</TD></TR>

<TR><TH HEIGHT="20"> ###2B-0 % </TH>
<TD>[FMP-Field: #% %452 B.0s % 1</TD></TR>

<TR><TH HEIGHT="20"> K% K5 #4280 % </TH>
<TD>[FMP-Field: R & #12 B0 % 1</TD></TR>

<TR><TH HEIGHT="20"> Kt J FIZB.L% </TH>
<TD>[FMP-Field: K& ¥ J F 2L %1</TD></TR>

<TR><TH HEIGHT="20"> #t Jt O AK# 12 B[ & </TH>
<TD>[FMP-Field: 5 O A# 12 .00 % ]</TD></TR>

<TR><TH HEIGHT="20"> 2 7 fEZARIZ.{ % </TH>
<TD>[FMP-Field: 2 7 FEARIZ B0 % 1</TD></TR>

<TR><TH HEIGHT="20"> & 5 — ¥ 2 |2 % </TH>
<TD>[FMP-Field: & 5 — ¥ 2 2% 1</TD></TR>

<TR><TH HEIGHT="20"> / —~ )V IZB.L % </TH>
<TD>[FMP-Field: / — X )VEIZ B> % 1</TD></TR>

<TR><TH HEIGHT="20"> fifit} 15 B B§.0» % </TH>
<TD>[FMP-Field:Aii#} i B2 B0 %2 1</TD></TR>

<TR><TH HEIGHT="20"> Mk 1M 12 B[ & </TH>
<TD>[FMP-Field: {1 W fiF 12 B[ % 1</TD></TR>

<TR><TH HEIGHT="20"> % Ol </TH>
<TD>[FMP-Field: % O & ]</TD></TR>

</TABLE></TD>

<TD WIDTH="25%"> J&8 & i <TABLE WIDTH="204" HEIGHT="325" BORDER="2" CELLSPACING="0"
CELLPADDING="0">

<TR><TD>[FMP-Field: Z%& i - J&#]</TD></TR>
</TABLE></TD></TR>

</TABLE></P>
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<P><INPUT TYPE="button"VALUE="J& % "OnClick="history.back()"></FORM>
</BODY>
</HTML>

- LO—MERIRTAT#—~ Y I 74)L (FEB8HR) (77 )L : shousai2.htm)
<HTML>

<HEAD><TITLE></TITLE></HEAD>

<BODY BGCOLOR="#caffe7">

<B> KfEHT v — MAATEHR (fE#ghi) </B><BR>

<BODY BGCOLOR="#caffe7">

ID / k8§ H

<TABLE BORDER="1" CELLSPACING="0"CELLPADDING="0">

<TR><TH>ID</TH>

<TD>[FMP-Field:ID]</TD></TR>

<TH> ¥f# H </TH>

<TD>[FMP-Field: ¥ H]</TD></TR></TABLE>

<TABLE WIDTH="600" HEIGHT="371" BORDER="0" CELLSPACING="2" CELLPADDING="0">
<TR><TD WIDTH="50%"> ## 52 <TABLE BORDER="1" CELLSPACING="0" CELLPADDING="0"
HEIGHT="273">

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> s > T/ ? {ZB.00% </B></TH>
<TD>[FMP-Field:# ¥k - T ? |ZBY.0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> % KK DA I1Z B0 % </B></TH>
<TD>[FMP-Field: % Kk D412 B0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> kb 7z/\— 3 7 V2.0 % </B></TH>
<TD>[FMP-Field: kb 7z/N— 3 7 Y IZB.0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> B£jilij 2 7 v FZB.00 % </B></TH>
<TD>[FMP-Field:BE[lij 2 7 v F 2.0 % 1</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> 3L 151 </B></TH>
<TD>[FMP-Field: 3t 154 ]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B>N i{li] </B></TH>

<TD>[FMP-Field:N {li]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> & |Z[.0. % </B></TH>
<TD>[FMP-Field: & |2 B-L>» % ]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> {ARB#5E il </B></TH>
<TD>[FMP-Field: fKERBEH ]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> f&§##Z 7t </B></TH>
<TD>[FMP-Field: B8 C]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> {54 4ii{ </B></TH>
<TD>[FMP-Field: {141 </TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> B #%§ </B></TH>

<TD>[FMP-Field: B # & #]</TD></TR>

<TR><TH HEIGHT="20"><P ALIGN=LEFT><B> % D1l </B></TH>

<TD>[FMP-Field: € D fth]</TD></TR>

</TABLE></P><P></TD>

<TD WIDTH="50%"> % ix# <TABLE BORDER="1" CELLSPACING="0" CELLPADDING="0"
HEIGHT="323">

<TR><TH HEIGHT="20"> Wi &2 B[~ % </TH>

<TD>[FMP-Field: W& 12 .00 % ]</TD></TR>
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<TR><TH HEIGHT="20"> f# # (2 Bd-ts % </TH>
<TD>[FMP-Field: ik B 12 B.0> % 1</TD></TR>
<TR><TH HEIGHT="20"> 1t f1 |2 Bd-1s % </TH>
<TD>[FMP-Field:ftf1 12 B0 % ]</TD></TR>
<TR><TH HEIGHT="20"> 51 |2 B-ls % </TH>
<TD>[FMP-Field: #4112 B:[» % ]</TD></TR>
<TR><TH HEIGHT="20"> H% - 1% ICB.0% </TH>
<TD>[FMP-Field: H¥% - 127120 % 1</TD></TR>
<TR><TH HEIGHT="20"> & #12 B[ % </TH>
<TD>[FMP-Field: i 3 #12 B.0: % 1</TD></TR>
<TR><TH HEIGHT="20"> #8120 % </TH>
<TD>[FMP-Field: #% %452 B.0s % 1</TD></TR>
<TR><TH HEIGHT="20"> K% K52 B.0 % </TH>
<TD>[FMP-Field: R & #12 B0 % 1</TD></TR>
<TR><TH HEIGHT="20"> K%t J 2.0 % </TH>
<TD>[FMP-Field: K& ¥ / F 2L %1</TD></TR>
<TR><TH HEIGHT="20"> #t Jt O AK# 12 B[ & </TH>
<TD>[FMP-Field: #t 5 O A 12 .00 % ]</TD></TR>
<TR><TH HEIGHT="20"> 2 7 fEARIZ.{ % </TH>
<TD>[FMP-Field: 2 7 FEARIZ B0 % 1</TD></TR>
<TR><TH HEIGHT="20"> & 5 — ¥ 2 |2 % </TH>
<TD>[FMP-Field: & 5 — ¥ 2 2% 1</TD></TR>
<TR><TH HEIGHT="20"> / —~ )V IZB.0 % </TH>
<TD>[FMP-Field: / — X )VEIZ B> % 1</TD></TR>
<TR><TH HEIGHT="20"> fifit} 15 EC Bg.0» % </TH>
<TD>[FMP-Field:Afi#} i B2 B0 2 1</TD></TR>
<TR><TH HEIGHT="20"> Mk 1M g 12 B[ & </TH>
<TD>[FMP-Field: {2 ¥ fiF 12 B0 % 1</TD></TR>
<TR><TH HEIGHT="20"> % Ol </TH>
<TD>[FMP-Field: Z O i% kE1</TD></TR></TABLE>
</TABLE></P>

<P><INPUT TYPE="button"VALUE="J % "OnClick="history.back()"></FORM>
</BODY>

</HTML>

-BEATA—< v T 7L (T74)b% : kensaku.htm)

<HTML>

<HEAD><TITLE></TITLE></HEAD>

<BODY BGCOLOR="#caffe7">

<FORM ACTION="FMPro" METHOD="POST" ENCTYPE="x-www-form-encoded">

<P><B><FONT SIZE=+2> 7" — ¥ #i% </FONT></B>

<P><INPUT TYPE="radio" NAME="-Lop" VALUE="and" CHECKED="true">and 5:f4
<INPUTTYPE="radio" NAME="-Lop" VALUE="or">or 5§

<INPUT TYPE="hidden" NAME="-DB" VALUE="3Kf§#& 7 ~ 7 — b 6.fp5"> <INPUT TYPE="hidden"
NAME="-Format" VALUE="kekka.htm"> <INPUT TYPE="hidden" NAME="-Max" VALUE="20"> <INPUT
TYPE="hidden" NAME="-Error" VALUE="error.htm">

<INPUT TYPE="submit" NAME="-Find" VALUE=" &l "> <INPUT TYPE="reset" VALUE=""1) -t v I ">
<P><TABLE WIDTH="100%" BORDER="1" CELLSPACING="2" CELLPADDING="0" HEIGHT="100">
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<TR><TD HEIGHT="100%" WIDTH="25%">ID :
<SELECT NAME="-Op">

<OPTION VALUE="gt" SELECTED> X ) K&\

<OPTION VALUE="gte" SELECTED> Ll I

<OPTION VALUE="eq" SELECTED> 4 L \»

<OPTION VALUE="lte" SELECTED> LA F

<OPTION VALUE="1t" SELECTED> X ) /h &\

<OPTION VALUE="neq" SELECTED> L4} </SELECT>

<INPUT TYPE="text" NAME="ID" SIZE="2"></TD>

<TD WIDTH="20%"> 4Ei#} :

<SELECT NAME=" 44 ">

<OPTION>[FMP-option:4E i , list= 4£#]</SELECT></TD>

<TD WIDTH="15%"> 1451 :

<SELECT NAME=" %51 ">

<OPTION>[FMP-option: 31 , list= ¥4 5ll1</SELECT></TD>

<TD WIDTH="30%"> kfii 1 :

<SELECT NAME="-Op">

<OPTION VALUE="gt" SELECTED> X ) K&\

<OPTION VALUE="gte" SELECTED> Ll I

<OPTION VALUE="eq" SELECTED> 4 L \»

<OPTION VALUE="lte" SELECTED> LA F

<OPTION VALUE="1t" SELECTED> X ) /h &\

<OPTION VALUE="neq" SELECTED> L4} </SELECT>

<INPUT TYPE="text" NAME="3kfii H " SIZE="7"></TD></TR>

<TR><TD HEIGHT="100%"> B1E £\ : <BR>

Py © <SELECT NAME=" B v (BA) ">

<OPTION>[FMP-option: BfEF v (FN) | list= BEFWIZ? (BN)]1</SELECT><BR>
AL T <SELECT NAME=" B v (40 ">

<OPTION>[FMP-option: BfEF v (B4 | list=BEF WX ? (B4 1</SELECT></TD>
<TD>®» %7213 ? | <BR>

4% <SELECT NAME=" % %7212 2 (5#40) ">

<OPTION>[FMP-option:» %721 ? (%4}4) | list=H %7213 ? (%4} 1</SELECT>

<BR>

P <SELECT NAME=" % 7% 7212 ?  (%¢) ">

<OPTION>[FMP-option:» %7213 7 (%:N) , list=H %7213 ? (42 N) I</SELECT></TD>
<TD> il H ? :

<BR><SELECT NAME=" Z O f~iZ ? ">

<OPTION>[FMP-option: Z Ot EE~IZ ? | list= 2 A H ? 1</SELECT></TD>

<TD> EDEHICLTHI-/z? ¢

<SELECT NAME="CZ Ofjlg % ED X HIZL THIo 72 ? ">

<OPTION>[FMP-option: Z DFFIE%Z ED X H I L THI- 72 ? |, list= &2 THI- 72 ? |</SELECT>
</TD></TABLE>

<P><TABLE WIDTH="100%" BORDER="0" CELLSPACING="2" CELLPADDING="0" >
<TD WIDTH="50%"> 4% J# <TABLE BORDER="1" CELLSPACING="0" CELLPADDING="0"
HEIGHT="273">

<TR><TD><B><FONT SIZE=+1> &> T/ ? </FONT></B> {ZB.0% -

<SELECT NAME=" &}~ T ? \ICH.L% ">

<OPTION>[FMP-option: 3 H - Tl ? IZB.L % |, list= &3 —F — [ZBIR %2 # 5 72 ? 1</SELECT></TR>
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<TR><TD><B><FONT SIZE=+1> %4 KK D4k </FONT></B> IZBL % -

<SELECT NAME=" 2 KBk DAL % ">

<OPTION>[FMP-option: 4 KR DO FRAIZ L% | list= £ T —F —1ZHKR % K-> 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> kb 72— 3 7~ </FONT></B> |20 % -

<SELECT NAME=" kb iL7zN—=3I 7 VIZBLE ">

<OPTION>[FMP-option: kb N 723— 3 7 VIO Z | list= ED T —F — [ZHER % K5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> BE] 2 7 v F </FONT></B> IZBL % -

<SELECT NAME="BEJl| Z 7 v F I % ">

<OPTION>[FMP-option:BE[ij A 7 v F IR0 % | list= & T —F — [ZHER % K-> 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> XAt 1315 </FONT></B> IZB.0 %

<SELECT NAME=" ({54 ">

<OPTION>[FMP-option: XALMEIE | list= & D 3 —F — |ZHLIEK % Ff 5 72 ? 1</SELECT></TR>
<TR><TD><B><FONT SIZE=+1>N {li] </FONT></B> |ZB:[» % :

<SELECT NAME="N {i ">

<OPTION>[FMP-option:N {lil , list= & ® I —F —|ZHK % $f 5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> 11’ </FONT></B> IZB.0 %

<SELECT NAME="#Z 120 % ">

<OPTION>[FMP-option: B IZBY.0v % | list= & 32— F — (ZEK % Ff 5 72 ? 1</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> fREREE ] </FONT></B> 120 % -

<SELECT NAME="{KERBEEH] ">

<OPTION>[FMP-option:fRERBEM] | list= & T —F —ZHEBK % K-> 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> fRE#{E G </FONT></B> IZBL %

<SELECT NAME="{KErf57C ">

<OPTION>[FMP-option:ARE#{EIC |, list= &P T —F —1ZHK % K> 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> 1318 5{# </FONT></B> I[ZBH.L: % :

<SELECT NAME=" {5493 ">

<OPTION>[FMP-option:AB1E 5 |, list= & D T —F — [ZHK % K-> 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> B35 </FONT></B> IZBL % -

<SELECT NAME=" B j# &4 ">

<OPTION>[FMP-option: B # & | list= & 3 —F — IZHEBR % F¥ - 72 ? 1</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> % Ot </FONT></B>

<SELECT NAME="-Op">

<OPTION VALUE="ch" SELECTED> % &t </SELECT>

<INPUT TYPE="text" NAME="Z®fll " SIZE="15"></TD></TR>

<TD WIDTH="50%"> ##¢# <TABLE BORDER="1" CELLSPACING="0" CELLPADDING="0"
HEIGHT="273">

<TR><TD><B><FONT SIZE=+1> W& </FONT></B> IZB.0 %

<SELECT NAME=" W& (ZB.Lo % ">

<OPTION>[FMP-option: Wi g 12 BY.0v % | list= & 32— F — (B Ff 5 72 ? 1</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> B </FONT></B> IZB.L %

<SELECT NAME="J{# B2 L% ">

<OPTION>[FMP-option: it HUIZ B0 % | list= & D 3 —F — IZHEE % Ff 5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1>1tf1 </FONT></B> IZB.0 %

<SELECT NAME="{bLAIZB.0% ">

<OPTION>[FMP-option: AL A IZBY.0v % | list= &) 32— F — (B Ff 5 72 ? 1</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> & f1 </FONT></B> IZB.0 %

<SELECT NAME=" &= IZB.0% ">

<OPTION>[FMP-option: A A B0 % | list= & 32— F — (B ff - 72 ? 1</SELECT></TR>
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<TR><TD><B><FONT SIZE=+1> H# - $:%% </FONT></B> 2.0 %

<SELECT NAME=" H¥% - L8 I2B.L2 ">

<OPTION>[FMP-option: HI3% - L2520 % | list= £ I —F — IZHIKR % £ - 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> & </FONT></B> |20 %

<SELECT NAME=" 1 LHIZH-L % ">

<OPTION>[FMP-option: &7 CH IR0 % | list= £ D T —F — [ZHEIR % #F > 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> % </FONT></B> I[ZB.L % -

<SELECT NAME="FME 2 B0 % ">

<OPTION>[FMP-option: FEMIHIZ .0 % | list= & D 3 —F — IR % Ff 5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> K& K& </FONT></B> (2.0 %

<SELECT NAME=" K& KH#K .02 ">

<OPTION>[FMP-option: K& HEHEIZB.L % | list= & T —F — [ZHIKRZ £ 5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> K¥E & / ¥ </FONT></B> IZB.00 % -

<SELECT NAME="K#t / F|Z.L2Z ">

<OPTION>[FMP-option: K & FIZB.O % | list= £ I —F — |ZHIKRZ £ - 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> D A# </FONT></B> IZB.0 %

<SELECT NAME="#t R O AR IZB.L 2 ">

<OPTION>[FMP-option: St DA IZBI.L % | list= & D T —F — [ZHIKR % £ 5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> I 7 A </FONT></B> I[ZBH.L % :

<SELECT NAME=" 2 7 A0 % ">

<OPTION>[FMP-option: 2 7 EEARIZB.L % | list= &0 T —F —ICHBK % £ 5 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> & 5 — 3 2 </FONT></B> (2.0 % -

<SELECT NAME=" A5 — Y 2.0 % ">

<OPTION>[FMP-option: & 7 — 3 2 \ZB.0 % | list= £ I —F — IZHIKR % £ - 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> / —~N)VH </FONT></B> IZB.00 % -

<SELECT NAME=" / —XVEIZH.L% ">

<OPTION>[FMP-option: / —X)VEIZB.O % | list= £ I —F — |ZHIKR % £ - 72 ? ]</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> flifJ 1 L. </FONT></B> IZ B0 %

<SELECT NAME="fifJ B EIZ B0 % ">

<OPTION>[FMP-option: AT i ELIZ B0 % | list= &0 3 —F — 2Bk % $F 5 72 ? 1</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> Wik W </FONT></B> 2B % -

<SELECT NAME=" Tl kB 1 fi (12 B0 & ">

<OPTION>[FMP-option: iAW B0 % |, list= £ D T —F — 2B % 5 72 ? |</SELECT></TR>
<TR><TD><B><FONT SIZE=+1> % O </FONT></B>

<SELECT NAME="-Op">

<OPTION VALUE="ch" SELECTED> % % %r </SELECT>

<INPUT TYPE="text" NAME=" % O i%JE " SIZE="15"></TD></TR></TABLE>
<TD></TD></TR>

</TABLE></P>

<P><A HREF="defaultl.html"> & — A ~NE % </A></FORM>

</BODY>

</HTML>

- BERREJTATIA—< v I 74) (T 744 : kekka.htm)
<HTML>

<HEAD><TITLE></TITLE></HEAD>

<BODY BGCOLOR="#caffe7">

Mg k& H <BR><BR>

— 117 —



#2413 1287 - [FMP-CurrentFoundCount]f:T3. Z® 9 H[FMP-RangeStart]?» 5[FMP-RangeEnd] ¥ T
FORLET. <p>
<P> <TABLE BORDER="5" CELLSPACING="1" CELLPADDING="0" WIDTH="100%" HEIGHT="70">
<TR><TD ROWSPAN="2"><P ALIGN=CENTER>ID</TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> 3¥fi H </TD>
<TD COLSPAN="2"><P ALIGN=CENTER> & %7213 ? </TD>
<TD COLSPAN="3"><P ALIGN=CENTER> Bf: & ? </TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> 3l </TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> 4% </TD>
<TD ROWSPAN="2"><P ALIGN=CENTER> fif[a] H </TD></TR>
<TR><TD><P ALIGN=CENTER> &4} </TD>
<TD><P ALIGN=CENTER> &M </TD>
<TD><P ALIGN=CENTER> L4 E 1 </TD>
<TD><P ALIGN=CENTER> T Wi </TD>
<TD><P ALIGN=CENTER> L N1 </TD>
<TR>[FMP-Record]
<TD><P ALIGN=CENTER><A HREF="[FMP-LinkRecID:Format=shousail.htm]">[FMP-Field:ID]</A></TD>
<TD><P ALIGN=CENTER>[FMP-Field:ff H1</TD>
<TD><P ALIGN=CENTER>[FMP-Field:& 7% 721% ? (%4})1</TD>
<TD><P ALIGN=CENTER>[FMP-Field: 3 7% 721% ? (%:W)1</TD>
<TD><P ALIGN=CENTER>[FMP-Field: B F W4 </TD>
<TD><P ALIGN=CENTER>[FMP-Field: B v (ILN)]1</TD>
<TD><P ALIGN=CENTER>[FMP-Field: B F W N]</TD>
<TD><P ALIGN=CENTER>[FMP-Field::}]</TD>
<TD><P ALIGN=CENTER>[FMP-Field:4£if#]</TD>
<TD><P ALIGN=CENTER>[FMP-Field: = ® ¥ ffi~1% ? 1</TD></TR>
[/FMP-Record]</TABLE></P>
<P>[FMP-LinkPrevious]«§i ® X — ¥ ~:[/FMP-LinkPrevious] [FMP-LinkNext] X ® X — ¥ ~—:[/FMP-
LinkNext]</P>
<P><A HREF="defaultl.html"> & — A ~NRE 5 </A>
</BODY>
</HTML>

cIS—RTATA—~Xv hIT7A) (T74A)L% : error.htm)

<HTML>

<HEAD><TITLE></TITLE></HEAD>

<BODY BGCOLOR="#caffe7">

FLMTLHLI-FEHY FHA. MBEFMFEZELEL, BERELZIT>TF 3. <BR><BR>
<FORM><INPUT TYPE="button" VALUE="J& % " OnCLICK="history.back()"></FORM>
</BODY>

</HTML>
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AT ZELWEETH o7, RVATLAZFHTLHILICLD, FIHZRIEHZICWERDYS, LELRD
SWAHT—F B ATT LI ENUREE oz, 58, AV AT LAEZAMEHTAZEIZXY, T
2 — N OBEGH ATV, ZOMEEEWEOD L@ HIHFHICHM ST T T EDPEETH 5.

E
R AT AEHIZBE L, o EKFAHEWEOITIG 34, SiR2B MK, #HL2OAEWERIAY
FETEW. F72, T v F Y HARBIEYAERER OGiles Clarkel#i 12133 S 2 KB L TWwWiz72wi-.
LLTHTIRETH .

5| FA3CEk
FRRER (2002) 7 7 A VA —H— Pro6 A—28—1) 77 LR, V—F7v 7, FH, 383.
FREEA - KT HE—I] (2002) 774V A—H—Pro 7 KNVAF I = 7. BAH T X F—, 5T, 327.
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